4.NBT.4.-TestlB Fluently add and subtract multi-digit whole numbers

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1.87+45=

a. 122 c. 112

b. 42 d. 132
2.7,632-3,414 =

a. 4,228 c. 4,212

b. 4,218 d. 3,218
3.743-562 =

a. 221 c. 121

b. 281 d. 181
4.834 +672 =

a. 1,506 c. 1,406

b. 1,516 d. 1,416
5.3,847 + 1,734 =

a. 4,581 c. 5,581

b. 4571 d. 5571
6.1,947 - 898 =

a. 949 c. 951

b. 1,149 d. 1,049
7.897 - 489 =

a. 402 c. 408

b. 418 d. 308
8.697 + 352 =

a. 1,049 c. 1,069

b. 1,039 d. 949
9.694-56 =

a. 48 c. 32

b. 42 d. 38

10. 4,321 + 1,745 =
a. 5,066 c. 6,066
b. 6,166 d. 5,024
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